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Q) discrete

b) cont muous

2) Ca‘le%orlca(

a) renked
b) unranked
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Tables / Graph:ca,( Dfsp/a?g

) Dot Plot
2) Stem and Leof Plod
3) Box Plot s

H) Bar Grop}.
5) Pie Chart

6) F'retlumcy Distributron
7) Histoqram

thusmﬂ Statistics
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Mean : X = -—-y-){-
X ranked obser vahon

Mode :  most ?reciueni'

observed valve



ore Tutorials at www.LittleDumbDoctor.Com Eiaf
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Valve of 5 indicafes how
"spread ovt ' the data s

.) =0 —_ /VO varmf/an n
the data; valves

all the some

2) S “small”" — 4}, data values
are no/‘_ wlcbly

dispersed

- 3) s " /m"ge"lr — the data valves
Qre widely dtsl)erSed
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3(X-%)

S\(aness = ————S—"“"

S\Immehqc Dle.
Pos. Skewed. )

Nea. Skewed !

5 - Number Summary
BOX P|o+5
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o 3 - Correlation
Pearson Corr. Coeff.

o< SS (xv)
’ SS(x) - SS(y)
wheve
Ssty)e Txy- 2XEW

n

<
Ss)= Ty - 2

85(N)= 2N° - @z

n



-Ird'e.rpv etation
D) Positwe Corr.
2) Ne%a‘\‘we (orr.

) Zevo Corr.

n) -1 &1
5) Cause and Effect



?eﬂresswn Analysis

Qeqfesswn ( Prediction) Eq_uah'on
Y= b+ bx

by o S (XY)
SS (X)
b= Y-bX

Pred\qu Valves of v
Powt Estimator: <}\= byt b,X
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. Pfo\)&k\\l ‘|'\| . RO_\G‘\'NQ Ffeciue Ney
Definition

Det: Swppose on oxperment

consists of n trjals, and
K ol these frials vesold mn

ent B, Then
d: K
P (Y= &

_ #gucessful repetitions

-

total # repefrtions
Note: This 15 colled +he

amPlﬂ.oﬂ ?fobﬂbll'+‘j 0'[’ an
went  or the rg_lgll-_mc. f_t_‘gioency
of the event.




Probabiliy- E(ioa"y Likely Outcomes

D((': SUPPO'S! an prcann"' can
result n one of m egually

llltch outcomes . Suppoae that

¢ of these outcomes resvlt m
event A occurlncj.Then the

theoretical probab 1ty of
event A s
P(RY = ¥4

- #ovtcomes n event A
total| # Posslble outcomeg

Note: Foy each outcome in S.S.
P(OU'I' come\= l

total # possible outeomes
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AL

ﬁ' diig‘_d'& P(o[)a_b_l_h_}\j dlSi’rlbg_‘hgn
s o st (or c:!.escrlp’rlov\) of the

VO|UQS the vandem variohle con

haue, a‘ohcj U-’I'H"‘ Hu assac_nahd
Probab;hhes,

We can do Hus UsNg o

Pmtﬂblhf\j 'f_r_'_e__@
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| Qu\e,s b

ﬂ\o, Pfobﬁblll*'j cSht an Quevd' E
1S alwoujs between 0 andl |

inclosive !
PEY=0 — wawent E
cannot occur

o PEY=l — ovent & mosT
O\wa\,s AV o
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2) The probablll‘l'yMo‘f .eve.n-‘l' 4 ' .
1S @q_ual to the sum of the
probablllhcs of the ovtcomes

in event A

P(AY: S Plovtcome)

all
OUTComes
n A

Comp\e mentory Event

Det: Suppose A 15 an avent. The
complernant of event A, dencted

"net A", is the event

1
“A does not eccur

Rule ot omplementory Events
P(not A)= 1= P(A)



